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INSTRUCTIONS TO CANDIDATES

(Use only dlue/Black ball-point pen ihﬂmwnboveandnnbomsiduof&mmwhnt)
1. Within 10 sninutes of the issue of the Question Booklet, check the Question Booklet 1o ensure that it
mlnsnl'rﬂ:e in comrect sequ and that is missing. th&z
e oty e o e ol S et 2.5 51

2. 23* n:t“ I:g:%n I:g‘ ﬂ?ﬁﬂ paper, written or blank, inside the Examination Ha)l except the Admit Card

3. A Answer Sheet is given. Jt should not be folded or mutitated. A
shall mot be provided, Onily E!}wdmwr Sheet wifl {; Mmﬁ A Shoat

4. Writc your Roll Number and Serial Number of the Answer Sheet by pen in the space
provided above, 4 2 F i

5. On the from e of the Answer Sheat, write by pen your Roll Number in the space
pmﬁd‘rﬁ at ﬁ:‘m 4 and by darkening the cl:'*c:gn ’::o the bottom. Also, whr’gru
- applicable, write the Question Booklet N and the Set Number in approp

6. No overwriting is allowed in the entries of Roll No., Question Booklet No, and Set No. (if
OMR sheet and Roll No. and OMR sheet No. on the Sueetion Boch ot 0. {if any) an

7. Any changes in the aforesaid entries is to be verified by the invigilator, otherwise it will be
taken &s unfairmeans. |

8. Each question in this Booklet is followed by four alternative answers. For each guestion,

are te record the correct option on the Answer Sheet by darkening the appropriate
circle in the corresponding row of the Answer Sheet, by pen as mentioned in the

guidelines given on.the first page of the Answer Shee,

9. For each question, darken only one circle on the Answer Sheet, If you darken more than one circle or
darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer once filled In ink cannot be ch .Iefs'ipudqmtwishtoatwnptn ion,
leave all the circles in the corresponding row blank (such question will be awarded 2ero marks).

I1. For rough work, use the inner back page of the title cover and the blank page at the end of this Booklet.
12. Deposit only the OMR Answer Sheet at the end-of the Test.
13. You are not permitted 10 leave the Examination Hall until the end of the Test.

14, If a candidate attempts to use any form of unfair means, he/she shall be liable ta such punishment as
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15U/94/8

No. of Questions/wt ¥ s : 100
Time : 2+ Hows | Pl Marks : 300
. .- 2; %) - (quts : 300

Nete : (/) This question booklet contains 100 (hundred) questions in all (38 in
Ssction—A and 70 in Section-B), Attempt as many questions a3 you
. can. Each question carries 3 (thres) marks. One mark will be
deducted for each jncorrect answer. Zero mark will be awarded

for sach question. .
mmmﬁwm(ﬁ)m!(n-nﬂ 30 3 wE-a # 70) |
wltyeiitre: il W w0 0 W T W | TR TS 3 (9R) S | e
ﬁmthwmmm .mmmnm@

|

(:i)lfmeﬂ:nnmnlwmwemmmbewmmma
correct answer, choose the closest one.
R wiftes 46w 2w Wt IR & Pz i o, ﬁmmm

B

(1) ' (Durn Over)
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15U/04/8

4. In these days of informational communication technology, tuchingi:md
~ dered as a process of

(1) Communication only

(2) Interaction only

(3) Skillful aptivities only

(4) Skillful communication _

T wivens wehel) ¥ v g 3, frer w o e il % w3 v e & vt
(1) wlw T @ |

(2) sr=ufiln =% @

(3) yrwereot fivrens e

(4) Joresnt wodver

8. mmmmmmm ﬂmhnwtnmﬂwewhmmwﬁm:m
citizens ?

(1) Through eaching

(2) Through proper guidance and counselling
(3) Through strict discipline

(4) By following values

(4} .(Continued)
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. g::m?ﬁmhrmt' W vt M'mip!n-m
(1) B g1 |

(;)mﬂiﬁ ﬁmm

(3) oK FFRR TR

()t & 3w g

: mwmmmammmmma,mﬂm
of trained teachers will be docressod. To resolve the issne, it is required that

(l}SQa sclection criteria is to be relpxed
(ZJPéwmﬁrm,mmbw
(3) Retirement age of teachers is o be liéreased
(4) Retired teachors are 10 be rocmployed again

woures fvgr Wl 6 sty wyR & wiwr, sfviier sreaoet @ avafe e e |
Ve T WY W WA ¥ g s § s

(l)mmimdﬁmm

(2) sremrelt ¥ g o #m-wm
(3)wﬁmﬁ§ﬁuhm~ﬁ 3 wyd AA
(4) t Py senawl 9 : dwr Rgfs o

(5)  (Tun Over)
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15U/84/6

7 mammwm students used to'become
(1) Active learners  (2) Passive leamers
(3) Competent leamers (4) Self dependent leamers
v s Wn/aur e, emym: W €
OL i E i a}ﬁﬁnm
(3) zu e (4) e st

8. If teaching is considered as a tripolar process, then teacher and students are
surely the two poles. Which one of the following is its third pole 7.

(1) Curriculum (2) Timetable
- (3) Principal (4) Parents

2R foww & 1% R-gha afew ¥ w3 F T o @ s @ o SR o
3wl 9 g W | Pt i & wia saw e gedem 7

(1) TN (2) I:l'ﬂl-mtlﬁ ‘
(3) sarTwe {(4) AR

9. Acquisition of skills is basically concerned with the process of

(1) Teaching (2) Training
(3) Instructinn (4) Orientation
(6) | (Continued)
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18U/4/8

e ew, een: weafRe gy
(1) fspwr afism @ - (2) whtveo o @
 (3) Sgtw v (4) R PRZw BT

uw_umaummommmmmwumL
(1) Heast (2) Hand
(3) Body (4) Spirit
ﬁﬂmﬁhmnmnm%nimﬂmm,ﬁﬂﬁmﬁm

(1) w0 7o W mew (2) ¥ A T W

(3) w0k PR w0 o § -~ (4) e S W -

11. In the given number serics, select the appropriate pair ofnmnbm for the
indicated m

2,4:12472, ? 7

¥

fw 7 v dok &, ﬂ&mnﬁthmhtﬂmmm

(1) 144, 432 (2) 144, 288
(3) 144, 420 - (4) 140, 400
m (Turn Over)
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16U/04/0

12.1f the direction ﬁmmdmﬁdinnnha-wthﬂmmhm
north, north-east, west, etc., then the direction of west will become
(1) South-West (2) South-East
(3) Nosth-East ' (4)mwm

PRI a— - — e ST S S
wear B ity R W wrem

(1) <Ryw-SfAw @ ghrer-gl
(3) 3w (4) IR-<FR

13.1f the sign of + is indicating +,+ ls to ~,~.i840 x sad x is to + then find out the
valse of : : | |
48+16+4-2x8+2-1 |
RiPNEEAE D, WA, W AN, MW LAR AR
& WA W R : . |
’ 43+l6+4-_2x8+2-l

(13 (2) 9 “@3)-1 . 4)=2

14, Which of the following words Is not made of the given word INVALUABLE?
Sy & 3 W W W R g ez INVALUABLE R sff v § ¢

(1) UNABLE | @VALE
(3) VALVE (4) UNLABEL
(8) | (Contined)
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15U/04/8

18, lfuﬁwm“ofamnlh.lhcfomﬂidaywasSamrday.thmonthﬂrdofﬁmtmmth
which wastheday ?

(1) Sundey () Samrday
(3) Friday | (4) Monday

R fimch mf & ZDthMﬁﬁnﬁmwﬁﬁmﬁﬁ 3w W
MW RAITEM ? .

L A @) wPam

(3) PRI | (4) TR

16.Find out the appropriate set of letters in the place of question mark — (?)
HPME : GRJH :: QBDL : ? :
v R (7) & TA TN IR WS W T I W, I 7 B
HPME : GRJH :: QBDL : ?

(1) PDAO (2) PODA (3) OCAO (4) PODQ
l‘?IfAstmdafor-!- Q for —, Rforxmdeor+,ﬁnenﬁndo|nthevﬂucofﬂ:c

following:

80SI6R6Q20A10
R A ¥ 37 + % g, Q wrzwim — ¥ g, R 3wwm i:f!mmSmmw
+ % forg s war ' @ fe w R W Bk

80S16R6Q20A10
(1) 10 (2) 20 (3)0 415

(9 ' (Tern Over)
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16U/B4/8

18,1 Ram is taller then Shyam but shorter than Mohit, Mobit is taller than Shyam,
Prem s tallor than Mohit but shorter than Rakesh, then who is shortest in height
among all ?

(1) Ram (2) Shysm (3) Mohit . (4) Prem

R 7w, v 2 v & AR R R S §, D v A v g, e
Wmide AR vt A v R T v ?

(1) ow (2) wm (3) ifm, OF

19.Find out the missing number

(1) 6 @ 24 (3)26 OF

m.hmcﬁvmﬁmmiuofmmmmmmdmﬁ
indicated. Find out how many students learns commerce only, when some
students are leaming two or all the three subjects.

(10} ' . (Continued)
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- 15U/94/8 -

mmhiwtﬁﬁm&!ﬁwtﬁm.maﬁmﬁw'@h
ggpmz\waﬂﬂﬁn st v 2 2 T o & Hom vy @) e wmd

(1) 4 . () 2 (3) 10 . (4) 14 i

21. To develop feeling of national integration among student is an objectives which is
termedas - ‘ |

(1) Educational objective (2) Teaching ohjective

(3) Specific objective (4) National objective
ol 3 T TR W Wi W e v it RR s aEn
(1) e Stw | (2) fomw AW |
(3) R sk (4) ot e
22.DIETwas esublished intheyearof -
(11994 (2) 1987
(3)2001 L (@)1990

(i1) ~ {Trm Over)
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. 16U/B4/6

DIET (®,a¥.{#4) ﬁmﬁ W

(1) 1994 ¥ & (2) 1987 @ &
(3) 2001 ¥ W (4) 1990 &3 #

23.In which year UGC became a siatutorybody ? '
v d A frfraren s awim (L0H,) W v wwn a7

(1) 1954 - (2) 1956 .(3) 1957 (4) 1961

24, Education in ancient India was mainly based upon

(1) VedicText -~ - (2) Teacher |
(3) Student (4) Teaching tecknique
qre e 3 foven sger: awaie ot |

(1) 4R A W (2) FHTE RN
Gemw o (4) frm v

zs.Edtmﬁmiswellkwwniumwhiqhuhﬂng

(1) Dynamic naturs (2) Ancient nature

(3) Static nature (4) Knowledge oriented nature |

fovn fireht o STl % e e 8 | we §

(1) Tveamers WHRY (2) syl

(3) Few pfe (4) W o /oqm wply
RO  Contmed)
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- 16U/04/8

26.Library is the heart of a school. It was stated by

(1) Jobn Dewey (2) Johnson
(3) Kilpatrick (4) Rousseau
Teurew Rt frarers w wew 9 § 17 v e Ry
(¥ ddtzm | (2)ahmm
(3) femtiRw g (4) W& ZR

27.Guidance programme is considered as a part of school programme. For ri
mlecﬁnnofcmimﬂmmdmmntquwhichtypebngMiswqu&eﬁlg'

(1) Vocational (2) Personal
(3) Educationsl (4) Social

ﬁmmﬁﬂmmm L TTREE wmlé
mmﬁthhmtﬁﬁ??ﬂmﬁ%ﬁ .a'lh

(1) srranies | (2) uﬁwf
G M | (@) smfve

28. Recently, teaching is well known s learni s
% o . tuchingm-nmgpmssbwa_usem

(1) Philosophical theory
(2) Psychological principles
(3) Political nature of the country -
(4) Sociological concepts
(13) (P Over)

L]
gcollegedunlae
India’s largest Student Review Platform

T



15U/94/6

m.hwﬂﬁu—ﬂnshtwiahmmmiﬁﬁm:
v wvan Aviode § .

(1) s AR W
() wirkwivs i
(3) ¥u @ Teiftve STl T
4) mm w
29 mmmm&www?
(1) 28 February, 1986 (2) 28 February, 198
(3) 28 March, 1987 | (4) 28 February, 1984
i Peerere BB o g T T 7
(1) 28 W), 1986 (2) 28 woell, 1985
(3) 28 A, 1987 (428wt 1984
30, The Montessori Schools insist 'on |
(1) Creative teaching ' (2) The peinciple of scnse training
(3) Complete disciptine (4) Equipped school bulldings
el frorery wer EE wd §
(1) gawe: fgm | (2) ¥ wftvgm & fred W

(3) T WFURR ® (4) v s RroTem e R

(14) r .(Continued)
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'SECTION-~B
wg -

Thmﬁlm.P_,ZP-lndSmeﬁngalonglhuidmdﬂ.BCndCAofm
oquilateral triangle ABC. The magnitude of their resultant will be :
sy A ABC % wit AB, BC ai C4 % wed 3 7 ot we: P,2P ™

SPﬂmﬂﬂﬁMIlmﬁm:
(N P2 - 2) PV3
G) PV5 @ rf

mmmcimofx"inﬂwmimof(x‘”:j)“is:

: 1 | .
(.:*,-;,) tmtﬁqmt :
(11360~ @ 132 (3)1364 ) 1368
I U= (12345678}, A= (1234}, B= (24,68} aod C = (3456,
then the value of (8- CY is-equalto : -
W U= (1,23,4,567389), 4= {1234}, B= {2,4.6,8) 2w C= {3.4.5,6},

N (B-CY W WA WA ¥ -

(1){1.3.4,5,6,7,9} (2)¢ 1,2'.4.5.6‘7,3.9}

(3){1,3.4,6,2,8,9) (4) {1,3,4,5,6,89}
(13) - (?m Over)
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- 16U/84/6

M.

38,

3%

mwof}/; willbe:

Je % TR g -

(1)1.348 ' (2).1.447

(3)1.648 | (4) 1.547

The value of x obtained from the equation (4}m.s '*'-{9)“' = (l_“]m"’-'[ll is

equalto:
atww (4)° +(9) = (10)*" A ym x WA wWR & -

(1)2 (2) §
3)10 j (4).100
a;'bf:l ig arithmetic mean between a and b, thmﬁzwnlueofnmllbe
e
ﬁ- el
!&ad’ubt#mm a:“" ta‘tnmmiﬂn-
(1)0 (2) -1
“(3)1 @2

32‘ mmwmmmm
327 9 7 A R w0 T Svww wwn § -

mne - @5 @3 @4
(6 - (Contintied)
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3 s W sz e Ao Al e % o we B a2

] 23

B @DF OF @

2
0 90 ee, thea:.

>
r
iﬂ %’fl ﬁ -
g
(1) )’=—4---tn:+b + (2) y-%-:--ra«i-b
(8) 3n i +-a 68 | @ y.-‘;_’m+a
(17) (Twn Over)
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15U/84/6

41.

42.

43.

The maximum value of x* will be :
¥ . WA AR B -

ofy

The value of 0.423 in the form of a fraction will be :

@+ Oy  @e

s fm % w9 ¥ 0.423 = W @ =
119 219 319 419
(M) 550 ?) 550 Mo @i
If 20, : "' P, = 57 : 16, then the value of nwill be :
R i s "3 P, =57: 16, M n & WA BN -
(118 (2) 19 (3)'20 (4) 21
: Ix+S s
The partial fraction of 772277 x’+4x+3
Ix+3 _
P rax+3 FrYTTSha Hiﬁ‘ﬁ't
2 2,3
MA x+l :+3 2) x+l+x+3
kR a3
O ey x+1 x+3 | “) x+l+:+3
(18)

(Continued)
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43,

; "l

R L e

_[t'A=[ma ] ﬂ:mﬂuvﬂueofd"wlllbe

$ing cosax

®R A=) u’td-'mma\m—
frodyosd|

sine cosa
sina cosa sina cosa
L ¢osa -sina @) | cosa sina_l
co8g sing #am -;:ua
3) [-lina ma] ) [ﬁ;na Fﬁna]

If(lf+6]+2?i)§:(f+,1]+pi)-ﬁ,mmﬂ|enlueof1 will be equal to :
e (25'+6}+27k‘]x[:"+1].+;p§)-'0', N 1WA WO B -

(1)0 @)1 32 @3
If y="  then 2 will be equal to
w®y=x" A %mﬁm-

.l

- ylog x)x

b4
2 (t+ylogx)x (2) _{

2

: "
) (l-ylogx)x @ (1+ylogx)x

(19) . (Turn Over)
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4. Thmof[luﬁﬁf will be oqual 10:
[nNzTc]hnmmM- |
WWE @1 @2 @ 28
. Thevalweof *q+§“-‘q willbeoqualto:
‘q-rg“'fc, W W TR e -
mec, @ Mm%, @,
. m‘marhumq %Evrlllbe:'
9= % s itz w7 i P -

¢
) L (o-m) @ EL e m)
e-nbd a+ab

&) @

(20)

(Continued) .
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1. Hdﬂunﬂ'lwm{9+x+l),{2:+l)ind(x‘-'l).ﬂunthmat
ango will be :
ﬂwﬂyﬂgﬂ(ﬂu-&ﬂ.ﬂnﬁu(ﬁ l)té T TR
PR - |
(1)75° (2) 90°

(3)120° (4) 150

5, lfm‘iwn‘o--;-,mmmm will be ;

TR m‘lﬂin"au--;-,i‘ WA -

; . x
1)) mi-} (2) me2 3
@y WSty

s3. mwawmmwmm@mm
(W2.2) s :

freg (3.0) vwr (3V2.2) ih-nmmaumt-

mMm m—‘@-ﬁ

o

.(3)1? “) 5~
(1) S (Tiem Over)
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18U/84/8

. o
4. 'lhevnlmor,}}_b—ﬂl':ﬁwnlhgeqwto:
It —h—wmmﬁm-

e ad]-|n

M0 Qe A1 @-1

4
. &
s, Im i8 equal to ;

T &
Fre=i Sk

2
m; @ o @i

6. 1?& the basis of L’ Hospital's rule, the value of It -:-:—-;;,"—’-i% will be
equalto: el
wften & P & i £=241 5

RS SMR A Toaey T
o @)-1
()1 - o 4)
(22) : (Continued)

L]
gcollegedunlaa
India’s largest Student Review Platform

T



AN

87. If aN={ax:xe N}, thenthe value of 3NN 7N willbe:
R aN={ax:xeN} ® INNTN |mum ¥«

(DN (21N Q)IEN (4)2TN

s8. Straight line & + my + n =0 will touch the parabola y* = dax if
T Y [+ my + =0, WK 3 = 4 ox N T wow IR -

(Dal=nm @) dl=mi  G)im=an’ 4) in=am

$9. The angle & between the vectors =i+ -+ 80d 5= j+£ will be equal
o . .
BRW Gaui+jek TN F=i-jek &0 W7 0 W BPT -

we'(-3) @w(-) ew(3) @ ‘%0"' 3] .

60. mwofmmmmmemu,q.z)mum
dicular to each of the planes 2x + 3y—2z=5and x + 2y —3z=81is:
frg (1, - 1,2) %) orw w0 w@ ww W 2+ 3y -~ 22= S st
x+ 2y -3z=8 & ¥ witw & o FAue % e d -

(1) Sx~4y-z=7 ¢ (2) 4x=8y~z=7
(3) Sx-4y-z=17 (4) 4x+Sy—z=7
(B) - + (Turn Over)
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61, Mmdawm&pdmd(l,l 8(123)adC(23,Dasits
vertices will be equal to

o g & o 4 (1,1 un(l.:.:)mcm.nmm imh -
(1) gwfl_? 2 -243_1 (3) -J‘H ) 1JE

62. The area of the region made by curve y = x’, lndlinux-l x=2and x - akis
will be equal to :
y-x‘Whﬂx-l.x-lelx-ﬂﬁmaIIMWim

(1) Jmin  (2) %-miu (%) Jaumins (4) Swqunits

63. 'I‘l:evnlneof Izﬂ” 27.2*dx Is equal to;
I:z'" 202y WuR W g -

1
1 C
( )m?f*' | (2) sz-bc
®) ——=2" +C @ =2t ec
(log2)’ (log2)
(4) | , {Cnnﬂu;ud)
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Which of the folidwing is s mapping of {(a:1),(8.1).(c,1).(d\1)} 7

(1) Constant mapping (2) Inverse mapping

3) Intomapping: (4) Ontomapping

AR 312 ¥ {(21),(8.1),(6.1), (1)} 1 T st & 2

(1) 3rer wfafE™ ‘ (2) wfiveir sfifRew
- @)sad wRfe (4) wremres SRR |
If4={1,2,3,4,5) and R = {(x,)) : x> 2,y =3}, then the domain aﬁdwof
| relation R will be : :
(1)(23.4) and 2 @ Q23)and]
(3)(24.5) and2 (4) (3,4,5)8nd 3

W A= {1234,5) R = {(xy):x>2,y=3} W wxY Rm‘l’m i
aPE W -

(1)(2,3.4) 1 2 (2)(1,23) ¥ |
(3)(2,4,5) A1 2 @ EAs) T3
(25) | (Turn Over)
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15U/B4/8

66. Thevalue of Im =T wilbe:
ﬁml-n’
H_f;r W"th
M-1 @1 -2 @2

67. The simplest form of tan” {7:’11-;}'*“ <¥<ais.

m“{gal—i?},-utxca wmamwt - |

T . _I
(I)"Wm p (2) sin ‘3’-

- q ' -1
(3) cos = (4) sin™ =

68. If x5,z s[.-l.l} such that tin"ntin"yuin'_‘r-%. then the value of

Ty - s will be

R x, .z e[-l,l] e lin"x*ﬂu"yﬂln“'l-i;- !i’[

S G L P 9
| mwmﬁm-

me @1 M2 @3

(26
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15U/94/6

69. Ifaooin:swsmdﬁtlmmdomly ﬂmthemethudsofﬁnding4h¢adsand

70.

71.

2 tails of the same coin will be :
!ﬁmﬁiﬁﬁmwmmtﬁmﬁﬂﬂuﬂiaﬂuwm
0 ) fftat wvht -
(1)8 (2} 11 @3) 13 4) 19
, . ¥ =Tx+6 .
The maximum value of the function y = 710 is
x*=Tx+6 -_
T y=——— % T e -
H1 @3 (3)5 4)7
‘Iff(x)-l - mmevdueuff[ ]willbcequalm

1+cosx

14 J"(.1:}=1 X @ f'[;)ﬁmmm;

(D1 22 3) -1 ) -2

1£P(5)=2, P(&)=% and P(EN ;)= ! thenthevalueof P(EE,) will

be equal to : (P stands for probability and E,, E, stand for two different
incidents)

R P(E)=3, P(E)=3 o P(& ns,)-- PR pu—
B -

(P =R E,, E, = A RBmwy)

4
m: @ ®; @3

(27) * (Turn Over)
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73, The line x + y= 2 touches the circle 7 + y* = 2 st the point :
Wx+y=2 , Mo+ye2R Ry wt f gt -

MG @EL) OO0 @)

74, The angle between the linca represented by the equation x* + 216610~ y* =0
is: . ' :
Whww '+ 2xyco18 -y = 0 TR Pefn e S e www § -

(130"  (2)48  (3)60° (4)90°

. | 2
7. mmmmmofi;-a%my-pu'

%—_—!%-rﬂy-o wmyiwr -

(1) ae* o™ (2) o +ee”

B)a* +er’ () o e

(%) o (Continued)
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7. Hﬂuﬂmoﬂbm r-;—-— uﬁepolcn(l l)bez,mmﬂnvmuofa
mdbﬁﬂﬁuqh]to

- y-: WA (L) NEEA2 8, A g Wk b & AN R W - |

MLz @21 @32 @ 2,3
E'P‘:'P,-lrz.thmthemofnwm&o_:
WRP,:P,=1:2, R nwram ¥M -

(1)4 )5 (3)6 @7

. A2x 2matrix 4= [aJMdmmwmby a,-i"—”i will be :

W2x23NP A=[a], ﬁltm uimﬁi'ﬁi.im-

:
1

[9 25 1 1) 9 13] (4 U

2 2 2| |2 2} 2
(N ) 3 @) .

|8 18 6 18 _8 la_ Y 3.
Asymptote of the curve y = x*(x-a) is; .
w ) =¥ (5-a) w wewall § -
Wrex-30 @rexeze @r=f-a  @r=f+e

(29)

(Twrn Ove#)
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81. Tho marks obtained by e group of students in two examinations, held before and
aﬂgmmmﬂvecowhim.mummﬁwmmwmgm
helped students to secure more marks or not. Some one suggested that ;

Statement(S) : We should use sign test always in place of paired t-test.
. Reason(R):  Because sign test is more powerful than paired -test,
Choose the correct comment on the ebove suggestions from the following :
(1) Siis true and R is its correct explanation,
(2)Sismmeisnofiuwme.
(3) S is false but R is true. .
(4) Both S and R are false.
ot & v W g, Rt e i @ g ok vewr i, D 70w 3§ i sie age
§ 1w e o ¥ 6w il 3 et %) it 3w TR WA S wrm A A
8 | feht o 3 gw R fn ey
w(9) : ¥ whw T 1-v0w & e v Arg-atar W vy v Wit )
. WRU(R) ; Wit fg-cter 39 vl ¥ aftes wiemeft 4 1
PR % & Iwis gam w aft Rk w v Bt -
(1)S wlt ¥+ R vl vt s & |
(2)S 96 & 763 R vl vt s T A |
(3)3mm g R WAL | |

(4)SHAR Pt rewr §

(30) , " (Continued)
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82 Which of the following is non-parametric teit for testing the goodness of fit ?

(1) Chi-square test.

(2) Kolmogrov-Smimov (K-8) test.

(3) Both Chi-square and K olmogrov-Smimov (K-S) tests.
(4)Neitlwd:i-sqummtml(olmgmy-8mimw (K-S) test.

wea gam % vhew & fR R 3 Wi sea e g 2

(1) Wizt aten |

(2) iRy

(3) wef-wt 3l S~ w26 v
(4)7 ® wf-w maam-mm

8. Anmhuﬁvcllﬂofdlmmbmoftbmhﬁmnhnswiﬂ:thwm&uﬂm
particulars is called

(1) Sampling design. (2) Sampling frame.
(3) Population design. | (4) Population frame.
R o 5 ) sl o 3 R e 5 o Ry g
(1) s e @) et |
(3) o sfweern | (4) &y €
' (31)  (TenOver)
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$4.In a8 6x6 Latin Square Design with two missing observations, the error and
treatment degrees of froedom are respectively :.

(1)18,3 (2). 18,5 . (3)20, 3 (4) 20,5

& e T 6 W0 i v § 3R ofk TRl @ T R

(1) 18,3 (2)18, 5 (3}21.). 3 4) 20.5. '
e |

85.The following is the layout of one replicate of a 2'- factorial experiment

Block 1 [(1) [ b |ac [abe
, Block2| a fabc]be|
The interaction effoct confounded ebove is i +
(1) AB (2) AC . (BC (4)ABC
Feafirfrs e 2%- TR v ¥ s W et R |

wxl ()] b abe |
(W2 |a |abjc | be

3w ¥ fifm o= ww
g)m (2) AC (3)BC - ($ABC
i
86.The data related to s factorial experiment with fuctors A and B each at two levels
and with three replications are as follows; - |
[1]=18, [a]=17, [b]=25 and [ab] = 30.
The sum of square due to interaction AB is ; T
(1) 6 - @ 33 (4) None of these.
' T (32) | (Continued)
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awe AWRB mitﬁmﬁm:ﬂtdhnﬂﬂﬂnﬁmmﬂm&mmﬂm |

ey Feftriea £ 1
[1]=18, [a]= 17, [b] =25 ~ and [ab] =30
FN AB & RV 9l W 4 ' |
g!)s ) 4 - 33  (4) w AR
| &
87.A Latin Square Designisa . -

(1) Completetwowayleyout.  (2) Tncomplets two way layout
(3) Complete three way layout. (4) Incomplete threc way layout . |

% A wt aftewen |

(1) ot fawil siftram () s el e
(3) of et P (4) st el e

3

88.Let pC and C, denote-the correlation ooeﬁmmt. coefficient of varation of
amlmychmctemticsandeoeﬂcimtofvmmonofmmobmwm
respectively. Pmduuemnrhdwsmamwﬂuamlamif
#en B p.C, 3R C, 9 Sy e, werw witrvgw & Ry o 3k
mmﬁmwwﬁ&cmhmmwm%wmm
grm & IR}

(1) 2pC, >C, (2) 2pC,>C,
(3)2pC, <-C, . (4) 2pC, <-C,
(1) | . (Turn Over)
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”Itnpuuiblctodividelhupwulmminintomw of units such that
subgroup variances are equal. Then we should use

(1) Stratified sampling selccting units from each subgroups.
(2) Stratified sampling seleeting one unit froi each subgroup.
(3) Cluster sampling selecting few (more than one) subgroups.
(4) Cluster sampling selecting one subgroup only. -

;ﬂnwgﬁwmmm#mmmtmmﬂtmm
| 7

(1) 5% 7o 3 el g A ok SR
(2) e 3l R 7%yl ¥ R vk SRwe
(3) %8 (W 3 afts) 3] ) w1 o Wi

(4) ¥am T8 3Tl W W o whvew
& 94 wn Wi |

90. Read the following statements carefully :

S : SMmthpWMMcMMym—pmhﬁlisuc
B Symmcmﬂmmmmmmmifﬁwemmm
feature in the list of units.

Choose the correct answer from the following :

(1) Both S, and S, are tru. (2) §,'is true but S, is false
(3)'S, is false but S, is true, . (4) Both S, and S, are false.
(34) - (Continued)
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Rrafrivs sl v sarrgle TR -
S, : wwg SRR 3w Wi i sen a-wmRes

s ﬂmﬁﬁwime!ﬁmmmmm
wn g

Rerfirfrr 3 @ Wft SR W ww wRY

(1S3l s, Fwh ¥

(2)%, wh 5, "w ¥ |

(3)S, T A vey S, R § 1

(@s, s Jwemy)
ﬁl.mt-ﬁmihﬁonwimMmﬂfWiaequtm:

(1) Catuchy's distribution.

(2) Beta d:smhunnn of first kind.

(3) Beta distribution of second kind.

(4) Normal distribution,

O TR WIR A t-ae

(1) ot ¥ (2) s TR & W W

(3) Rdve wem % Wt WA (@) R NA
g Tm
(35) (T Over)
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n.xukeawml.zsmuwtmmunywwou.mmw
mdP,wernlmnivehypud:uhugiwnbehw:
X: 1. 2 .3 4
Po: 2/13 3/13 3/13 sA3
B: 213 3/13 113 1/
Cansider the critical re Wn{l,2} W - -
Riad it bt M. l {l-}:: {13} and W, {4).
S, : All the critical regions have same size §/13.
S, : W, and W,lm:eqmlpmbulmtbmthﬂofﬂ.
Gnoo?ethemmqmwuﬁmmefonovﬁng: - *
()Both S, and S, aretrue. (2) 8§, is true but S, is false.

(3} 8, is false but S, i3 true. (4)-Both §, and S, are false.

amﬂsﬁﬁmmtl,z,smqmﬂﬁ,xwﬁthﬁ;mm

Fo % T o1 AR o 6 sy e N By, g
X 1 2 3 4
Py: 2/13 313 3/13 53
P,:_zﬂs 313 113 113

W O W, =(1,2}W, = {1,3} and W, = (4}, W7 |

Rrerfvir wwit ) aagle Tl i

s,:wﬁchmwsm.mﬁ' S

| g:-mmugm.wﬁ%ﬁtmmmd.m_i

Reaftvir % 2wl 3w waa it -
(1)S, 3k s, Tl &) Qs mittwy s g
Q)S, Tiveg s mitd) (4)Is.mzs;ﬁ=ilﬁhnt-t

(36) " (Continued)
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93.Let X denotes the sample mean of a random sample of size ndrawn from normal
population N(j,6?). The INCONSISTENT estimatorof p is: -

X yemra oW N(u,o®) &nm%m!ﬁwmiﬁmﬁﬁﬁlm
L ATR E

= 1 - . a DX+10
(1) X+o= @) —5

@) AR 4101471 ( 4)' 70'X +1000 + 747
4n’ +819n-750 9ln® +18n-175

L §

lfanon-negmve integer valued mbdmvuinblepossmlankofmmmy
property, it follows geometric distribution.
S lrnm&mmmhmlwkofmm it
follows exponential distribution.
Chomeﬂnmnﬂmﬁmﬁaﬁﬂlowhu

(l)Boths.agds,mm (2) S, isu'nabuts,nfnhc
(3) 8, isfalsebut 8, istrue, - (4)"Buﬂis,ands,mfalse._

Rt wlt v sorrgls ofig
§ ¢ muﬁmmmmmn-mtl
8, : WR vl @ qu § yu svell wvar & o e s st s soR

wan g
 Reafofirs 3§ @ Wt sow v w0 ‘
(s, Ak s, ¥ aht () s, whveg s, wm ¥y

)s, TRy S, ah ¥ (4) S, ¥ s Mt mm &1

(37) . (Twn Over)
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98, The mean weight of 150 studonts in & class is 60 kgs. The mean weight of boys is
70 kgs mdtlmtofsirlsis 55 kgs. The number of boys and girls in the class are

respectively
el w0 ¥ 150 Wit w7 afverm e 60 . 7. t:awmmwmonr.m.m
erficat w1 55 s, n. & 1w 3 et sl et ) wem e

(1) 50, 100 (2) 75,75 “ (3) 80, 70 (4) 100, 50 ‘
R

96.For moderately skewed distributions, it is empirically observed that
(1) Median = 3 Mean -2 Mode. (ﬁ) Median = 3 Mode -2 Mean.
(3)Mode=3 Modian -2 Mean, (4 Modo =3 Mean -2 Modian.
mﬁwiﬁtﬁ.mmm-&
(1) e = 3 WTeR-2 wEeTs (2) icen = 3Igm-zm
(3) wgere = 3 wiCew-2 T (4):@-3m-2m

97.Letr,_ and n,, denote the correlation coefficient between X and Y and correla-
tion ratio of X on Y respectively. Change of origin and scale changes the value of

(1)r only. - (2) 1y only.
(3)Both r_and 1, (4) Neitherr, nor 1, -
(38) "~ (Continved)
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mﬁiﬁ; r, 3 0, W Xaﬂthmewxw Y RAwary
uawluﬁ’fﬁluiﬁ IMWMM%

(), @ %,
(3) r;ah[n,, ot (4)=rr#i't=lﬂl_ N
5 o 3 Rl B R ) |

98, The chance that a doctor D will diagnase a disease X carvectly is 60%, The chance
that a patient will die by the treatment of the doctor D even after correct diagnosis
bf}(isd»ﬂ%mdﬂlcchmofdeaﬁ:aﬁuwmngdiagnmiﬂis?ﬂ%.-.&pgﬁﬂuof 1
doctor D who had disease X died after his treatment. The probability that his
disease was comrectly diagnosed by the dactor is *
i Trex D frdt 3 X w0 wlt o wom, mmﬁa%tsmntmi
e Aokt 5 X ¥ et Freen ¥ 3900 g W EAT 40% R | T D ¥ e o R,
Al dm X w1, IR W 7 O R | YRR D R ek A il Fewe gen o,
®wm |

(1) M3 (2) 6/13 (3) 6/25 . (4) 8125
- 81 - -

99, Which of the following cannot be probability generating ftmouon 7
At 3§ A ¥ sfesn s weR Wi d ¢

() s°@2-9" | (2) (1-5)/10(1-5)

(3) /(2 +3) (4) 47°(143s)"

(39) _(Turn Over)

L]
gcollegedunlae
India’s largest Student Review Platform

—



15U/B4/8

100. In a multiple choice test having 4 choices in each question, an examinee knows
the answer of 75% questions and guesses the answer of the remaining
questions. The probability of answering the question correctly is I, ifhe knows
the answer and 174, ifhemlfmunmmmmamesﬂmme«lm
the probability that he really knew the answer is
e W 3 4 fveeg cart wrt Rt g fivesea gt 3 wir w8l 75% e % Iw
Fr & ol W et & T e e | e o Twod @ i
18, 3Ry 3o e 4, i 1/4 4, A g g v & ) 3Rt i wRend] Rt
mwmrmimtﬂumi TR wrRm & siReen

()34 | ‘@) 1116
§3}12.Il3 - @) N3
£ Y o
(40) B--3,000
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'aﬂlﬁzﬂtmﬁiﬂ

msﬁntmmwﬂmmmhﬂwumm/mm-miziﬂaﬁ)

| B

2.
k §

10.

11.
12.
- 13,

14,

wWiRwm R E R sadada ol pint iwmw
gﬁmmvﬁwﬁmmﬂmmwmnhtRWmﬁwmgﬂﬂ:

vhw i 3§ Ry iy TE-vx W afftw, fean 1w W O g wer ane o

TR~ 50m R Rar v 1 W@ TRl 3 et ) -y »
il g Lo L frpr R 1 Yo e 7t A wmm | S T

YA IR AW JR-NY T BN T WWW-3¥ W 37 @ Bt oem v ford |

Iy & o qw o1 47 3 s agEvie Al v v Ao owr 99 9 7T W v we 7

Yol Tyl wreres gt vyl w-3T W wiw wwr Oz w1 TN IR vl w A

ﬁ.v.qmu«%ﬁm,m—s@whnﬁzm(uﬁﬂfa)mm-mm
WP T AR, W, AR, T st ) il i aufdve B sl T 8 |

. 'mﬁ&ﬂimﬁﬁmﬂqmemmm&imwmmmwm

AT W3

mmﬂnﬂ{smtmmmﬁhﬂlmmimm;ﬁm -
mﬁuﬁ&m&#ﬂﬁmw%mpwﬁﬂﬂiﬂtwhﬂm

mmtmtﬁﬁmmﬁ@ﬁwdmﬂuﬁzﬁﬁwnﬁwmmwﬁ

| AP W T I I TR W A |

mi&quﬁmaﬁvmm#wmhw&mﬁﬂmw I &
£, @ wafRm s & o R wh et W aneh oty |ﬁuﬁwqamﬁiwﬁﬁwf

ﬁwtﬁimmtwtaﬁtmwwﬁmm?wm#i
v & 3w dwer 0, @7, IR, I-vy s s ¥ o )
W wue 99 @ e vm waT R wng AR R a8 gei )

:ﬂ&mmaﬁmmﬂmmt.ﬁﬁm’mmammm
N
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